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Homework 12-01
























































































n

U

local

local

fir concaveup at apt p ifthere is
an interval aroundpsothat

the

curveAtxD liesabove thetangentline
atP

H
f is concavedown ataptP if

there is

aninterval around p sothattheatre
lies below the tangent line at

P



012 V 3,4 ble f is
X 3 ble ft changessignfrom to t
X 3 bc f changsSignfrom t 10



f 25,1

V 1,2
I 6 5 UHbof is inthoseintervals
fg 3 2ble f is 0 inthoseintervals 3,1blef changessignfrom to t

b f changessignfwm1to X 5
f f't C4 2.5 f
f 0 fly 614 12.55

f t or t

f 74 or ya YI


